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FOUHHMO CO(ANTDHE /Y
CHol: EOIDIES 918 AT AMHIA (el &2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OFAMMIIEY B& 2,500, 000& * 14! 2,500
MY 2L ZHI (0t H)(JIEH/JIEH 122,037 101,447 20,590
QIR A 10,200 9,600 600
eI 2| 10,200 9,600 600
203 HRF=& 10,200 9,600 600
01 JIZ2EHRFaH 6,600 6,000 600
ogE 6,600,000& 6,600
02 FEBAINHRFAH 600 600 0
OFJ It R =8| 40,0003 15 600
04 REA2ELRFAH 3,000 3,000 0
ORNSZEYRFAH 250,000& 123 3,000
Jl=&4 111,837 91,847 19,990
JI=&Hl 111,837 91,847 19,990
201 ZEH2EH] 51,087 52,247 21,160
01 AR 2cldl 31,574 36,934 25,360
ORNMEA 1,100,000 x15H 16,500
Og.=2Hl
10,0003 1.3 2482 +50, 0002 *1.3F *150
= 12,974
O=gl 2,100
—S204lY| 7,000 x 1520 2,100
02 32294 19,513 15,313 4,200
ORVR= 100,000& 12 1,200
OJIE=2R3 4,854
M3 4,704
- EA 380,000& 122 4,560
- =&EX 4,0003*34 &x123 144
—SZ3MNERE= 150
- AMES= 50,000& *23] 100
- X 25,0003 *1CH*23] 50
OH =l 6,849
— AR 4 1,300& *1.7 £ x8Al 2t*3CH* 100 5,304
—=3 4 1,300 *4.95 £ *BA| 2t+30 1,545
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B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
OXt&t= Rl 22| 3,700
—2832(3R) 3,000,000 = 1CH 3,000
—BEZ(NE & AELQEHI0I)
350,000 =2CH 700
OXS A (HE) 30,000 =1CH 30
O= ARt 2,880
—UBES A (X-21201 &)
120,000 «2CH =12 2,880
202 OiHl 52,500 39,600 12,900
01 =Wodl 52,500 39,600 12,900
O 250,000 x15H = 12& 45,000
Ozt 50,0003 15 10 7,500
405 RKtabFE=HI 8,250 0 8,250
01 X =SSFHSHI 8,250 0 8,250
oY . e 2 4,000
— oAl (tE) 4,000,000 = 1CH 4,000
OdAIE A& 150, 000 * 154 2,250
o384l F2Y 2,000,000& *1X 2,000




